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There are 150 objective multiple choice questions in this paper. This Question Booklet\xs\mad\e up of the following
- five sections : Section-I, II, 111, IV & V of 30-30 questions each. The cand‘idate has to aftempt all sg,ct{r(fﬁ‘s‘ Each
question is of one mark. There is no negative marking for wrong answer. '
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, PAPER CODE : ST1-2012 A :
Total questions : 150 - Time period : 90 minutes Maximury Marks : 150
: : No. of uestion Nos. "\ Page Nos.
}Section Contents . Questions !gom To lx-o-r;g - __To
i) Child Development and Pedagogy 30 1 30 3 10
() Language I (Only One Language) 30 31 60 o~ ]
As selected by the candidate as medium of ' _ ' N
_instruction in the Online Application Form as o ‘ . Y
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' Hindi 30 31 60 11 14
] . _ English 30 31 60 15 i8
- ] ' Sanskrit 30 31 60 19 22
: - ' - Urdu 30 31 60 - 23 26
Sindhi 30 31 60 27 30
. Punjabi ‘ 30 31 60 31 34
. Gujarati 30 31 60 35 38
(1) Language II (Only One Language) 1 30 61 . 90

As selected by the candidate as Language-II ( other
than the = Language-1 ) in the Online Application
Form from the Languages givén below :

— "Hindi| = 30 61 | 90 39 42

_ _English | - 30 . 61 90 43 46

-Sanskrit 30 . 61 . 90 47 50

" Urdu 30 61 | 90 51 ‘54

Sindhi 30 61 90 | 55 58

Punjabi’ 30 61 - 90 |- 59 62

PR Gujarati 30 61 90 63 66

(v) Mathematics - R : -~ 30 91 | 120 67 78
\/) Environmental Studies 30 121 150 79 90

Note : In Sections il and III, a candidate has to attempt the questions of Languages compulsorily, selected as Language - 1 and
Language - 11 in the Online Application Form. For Hindi version of the above Table & Note refer to Page No. 2

|_Read the instructions in English & Hindi at Page No. 96, last page of this booklet. |
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SECTION -1
oug - I
CHILD DEVELOPMENT AND PEDAGOGY
oA ot wa framemen
There are 30 questions in all in this section.

All questions are compulsory.

3HEIE H FA 30TH T |

[t w7 At § _ , \
1.  Nine year old student's moral reasonmg is based on
(A) “ the physical consequences of an action deter‘mme goodness or badness
- (B) an action is judged to be right if it is instrumental in satisfying one's own needs
(C)  obeying rules should bring some sort of benefit or return
(D) the right action is one that would be carned but by someone whose behaviour is

hkely to impress others.
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Which of the following examples is not the result ol motivation ?

Krishna has increased her time of dancing from one to two hours

John Stuart Mill started studyihg philosophy from the age of 12
Jagan has started to show interest in the ‘process of breathing’

Ram has progressed speedily in Correlating the trends of modern and ancient
history.

ﬁmﬁﬁaﬁqmmaﬁﬁwnwvﬁmﬁ%’ '

(A)
(B)

]

(D)
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3. Which of the following will work as an effective praise by the teacher ?
(A} Focuses student's attention on their own task relevant behaviour
(B) Uses the accomplishment of peers as the context for describing students’
present accomplishment
(C)  Provides information to students about their competence or the value of their
accomplishment :
(D) Uses positive behavioural support when students seem unable to control their

behaviour.

fwﬁﬁwww@m%mﬁaw%ﬁﬁmm ?

() forenfefi % sraum F) 3% F A T FERR W HEET w
B) foenfeli & o<fam w1 Foaea &1 37% v & o= wifuEl & a<d afvfa & @
(©  fanfelaf &1 3o Qrametl sua wid froed F mEE R gan e
W = ol o saer & fratm T8 w9 @ 3% IeRns Sgaencas gadd yean
‘ EXGIRIN 4
4.  Which of the following is an example of learning ?
(A)  Grecting the teacher by folding hands
(B)  Salivation on seeing the tasty food
(C) Climbing, running and throwing between 3 to 5 years
(D) All of these.

751 § | FA-T 3T ity E) wafla i -

A) T S F ASATGE HI AR FAT
(B Enfey 9o T@ F Y ¥ R H1 o
(C) =&, 9T T oA i 9 i o i oAaen §
@ AR
5.  Which of the follovmng is least important in the process of thinking ?
(A) . Pictures (B) Signs and symbols
(C)  Muscular activities (D) Language.
BECRR I wﬁwvwaﬁmﬁwﬁw%ﬂlﬁ% ?
@ fax B wiF T AEC
© =y fRarE ' (D) o | )
6. The behaviour showmg mtrapersonal intelligence is
{A) detecting another's underlying intentions and desires‘
(B) reading another's mood | '
(C) discriminating among such similar emotions as sadness and regret
(D)  using knowledge of others to influence their thoughts and behaviours.

sTdafes qfg 1 weifa T a1 e §
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7.  Which of the following st'rategies or imnplications is against the spirit of promoting
gender equity keeping in mind gender differences ?

A)
(B)

©)

(D)

Tell students that they can be successful in sterectypical subject area

Assume that both genders have simiiar potential for developing physwal and
motor skills especially during the elementary school years

Provide support to boys in developing self confidence in their ability to control
the world and solve problems

Teach both genders less aggressive and pro?social ways of interacting with each
other.

ﬁmﬁﬁaﬁqma{gm/aﬁﬁaﬁﬁmmaﬁmz@ﬁ%ﬁmmaﬁmaﬁm

-
@) oo = sad i wfeas ol § wwaa sifas & g €
B) Wﬂﬁn‘ﬁ’ﬂl’ﬁ'ﬁ’raﬂ‘fﬁmsmﬂ'ams'qvqlﬁwﬁﬁﬁqamma?ﬁﬁﬁmaﬁmm
A TEH B ©
- mﬁmaﬁ%wmaﬁvmawﬁwmwﬁ%ﬁwaﬁuﬁwmm
" aenfaverd faswfaa FO ¥ ol wedm wem
(D) mwmaﬁﬁmwwwq@#mammw%mm
Tt 1 foaren 513 |
8. A teacher can understand community based individual differences within any group by
paying attentior: to .
(A) eye contact (B) irtelligence
- (C). language and expression . (D) homework.
T e ford off v § waer snuifta safema fafiermedl &1 wog wa §
A) TGl % Fd F YR T B) dIfg F MR W
©r 9w Ifyeafs & SR W (D) T ® & MUR W |
9. For nurturing creativity a teacher should keep his students
(A) - task focused , (B) goal focused
) task focused and goal focused (D)  reward focused.
Gierdl & W 8Y, T AT 1 o feenfedt sy e =
@) wE Fd B = HfEa
[C & Hfsa @ we Hisd (D) YR IRE |
10. Which of the following is not a characteristic of socialiy disadvantaged students ?
(A)  Experience child care practices that do not prepare them effectively for school
(B) Does not receive regular health care
(C)  Are not exposed to a wide variety of expenences '
(D) Are not motivated to do well in school. ‘
e § § FE-d fodrwan wfoes w9 @ sifea o & foenfeRl = 7€ & 2
@A) T F @I F NPT SR T & g gwrEeelt € 8 TR A& Hd
B frafaa e wweel e To faerdt
(© e e oty SreEl 1 W Y 1 He T e
(D) foora ¥ =1 1 &F fod afdfa =& foan s o

o | [ P.T.O.
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11. Action research is different from basic research because

A it is conducted by teachers, educational managers and administrators

(B) it is conducted by researchers who have no relationship with school

(7} it is based on standard tools ' ‘

(D) it is based upon samples. v

fraers s eur Hifas 97aar 9 s € #=6ifF 9w

(B) umata gR1 fe S ® e foremer @ #E wwy A g

(C) ¥® uTdid ITHLON W TG e ®

(D) &% Ay W el g ¥ |
12. In the action research, action

{A)  hypotheses are formulated on the basis of the causes of problems

(B) hypotheses are formulated on the basis of some rationale \

(C) hypotheses are formulated so that they can be statistically verified

(D)  hypotheses are not formulated.

foramm® srauE o

¥ Frarrs Susmeael w1 fafo guemedl & FRON | i ®

(B) Trarwes Iusmegrstl & Fmio et qdgs faaw w anufa @

©) Wmﬁmﬁwﬁwwf&mm%mﬁmaﬁ@aﬁaimmm

(D) FraterEw ITweTAe w1 fmiv @Y fFa s o
13. In Naiional Curriculum Framework 2005, multi-lingualism is advocated to be used as a

resource because : -
() it is a way of ensuring that every child feels safe
(B}  no one is left behind on account of linguistic background
(C) . it will encourage chifdren to believe in themselves
(D)  all of these.
THg weTE wRa, zoosﬁﬁwﬁwww%mﬁwﬁwﬁmw%m

() T T aoH ¢ e v e gt wedd W
(B) TuATd gRYfH % FRO FE o e 1S T g2 98
(C) =8 a1 J W fava & fod v
D) TH R E

14. Which of the following is not approprlate to understand science at upper primary

siage ?
(A} Observing things and recordlng observations
(B)  Plotting graphs
(C}) Hands on experience
(D) Learn the subject through abstraction.
ﬁmﬁﬁaﬁﬂ—maﬂfﬂﬁﬁmﬁwﬁm%%ﬁﬁaammwmmﬁ% ?
{A) mﬁmﬁmmam@%ﬁﬁﬁwé/aﬁm
®) Tafas s
(C) awafas FIWE WA FE

S sgde % g1 fawa ) dEe

TR N
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15. Which of the following statements do not agree with multigrade teaching ?
(A)  One teacher manages more than one class at a time
(B) Flexible sitting arrangement
(C) Interaction between and within grades
(D)  Students to be similar in terms of age and ability. -
=1 § B wA-w e wgie faao yonelt % wre geafa T8 W@ 2
(A) T FAIE UFH GG H TF W AfUF Fans] F goET wEO §
(B) FSA i TG e
(©) ﬁfwmﬂaﬁﬁ@mﬁsﬁwﬁamm
py, fornfelali o1 oy wE Hrgar & SNUR W FEH AT
16. In the cognitive development heredity establishes
(A)  the basic nature of physical structure such as brain
(B) the development of physical structure
(C) . the existence of reflexes ‘
(D)  all of these.
- HgrTenes fasm § dwen fuifa & ®
(a)  wfee SE IR WEA F gEYd e &L
(B) RIS G & T &l
() wEw e frasi & stfera ®
P TEAWE
17. Which of the following statements is not correct ?

(A) The teacher who believes that development is due to nature then for him
providing experiences is of no value

(B)" Early experiences are important and teacher's interventions are also important
(C) No teacher can help children in recovering from early negative events

(D) Development in terms of behavioural changes is caused by environmental
) " influences. ‘

1 § A F9-u wua e T 2

() W ST ww favara WA € fasma ety w1 oee ¥ e §, 9 oFMd Wed &
e &l ol .

(B) un&wmwm@%%aﬁtmmmmwsﬁwm*%

@) IRAYSE SET F THRIeHSE Al & YU ¥ FIE ot Tearas g9 FET T Hehdl

(D) FFEERTHE WEds % Teof ¥ fawm araateia gur % wawed g @ |

18. Which of the following characteristics distinguishes matpratioh from learning ?

(A) 1t is a natural process (B) It is dependent on practice
(C} It r&dependent on motives (D) It is a lifelong process.
fret F | F-= fordtom aftsemn 1 i @ orer wed § 2
LW T7 TF wnfas i © B, U e W R w R
() =7 Tl W el el ® (D) I% Sitaw w=1 aom arelt 9fwan € |
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19.

20.

21.

22,

8 -' {’

Which of the Tollowing statements is incorrect about development ?

=

(A) The development pattern has certain predictable characteristics
(B) The goal of development is the achievement of hereditary potential
(C) The areas of development are free from potential hazards

(D) Early development is more critical than later d‘evelopmént.

=1 9 @ SH-w e T % wory # e R § 2 -

() fom sfomm # Fo fafvad fadrmae &t wfasramh # s g @

B) Tohm #1 SRYT ST GRS el &1 e e §

© fowm F fafim & § wre o e 9 f

(D) IRfvE faem ae & fawm ¥ sifus geayl ®

Gang belonging leads to improved socializatioh in late childhood. Which of the following
statements is contrary to it ?

(A) Learns to be independent of adults
(B) Learns to carry out responsibilities
(C) Learns to be loyal to group

(D) Quarrels over most trivial matters and picks fight with gdng members.

mmhmwﬁ%ﬁw@wwmﬁmm% lﬁmﬁﬁﬁ'—rmaﬁmw
foem & fagda ® 2

(a) TSR W R A e v'?@m ?

@) frdfE =t f dem @

(C) 3 9qg % Ufd IwER g1 Hrgar ¥

() BE-BIET FE WIS W g, mﬁn%mamnﬁaﬁm%l

In summative evaluation the purpose is to _

(A) find out how well a student has performed over time and at a variety of tasks
(B) facilitate learning and not to assign grades

(C)  discover such a student who is having a difficulty in keeping with the rest of the
students '

(D)- know the progress to the next unit of instruction.

TRIEHE YEATHA T Ie¥T © ,

by wﬁﬁq@ﬁfwmﬁmwﬁmzﬁﬁmwﬁmﬁaﬁw% 1 Tl

(B) AR H G A F IS T YGH HA ~

©) @ﬁmzﬁwwmwﬁmﬁmﬁﬁ%mawﬁﬁaﬁ%ﬁaﬁwwm%

(D) TTel 3HIE & STRYE ¥ d yoifa 1 qar e |

Raju was afraid of rabbit. At first the rabbit was placed at a distance but gradually on
each successive day, the distance between Raju and the rabbit was reduced. The

rabbit was finally placed in his lap and he started playing with it. This experlment is
an example of

(A) trial and error learning theory (B) classical conditioning
(€) operant conditioning (D) all of these. '

IR o (sor] -
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(A)  ¥IE W@ e fagi
B IS e fagr W
() fora 9gd sty fagr=t &1
(D) T F st
23. The extrovert student differs from introvert student in which of the following
characteristics ? '
(A}  Strong feelings, likes and dislikes
(B) Expresses feeling externally instead of suffering internally
(C}  Absorbs in his own intellectual pursuits N
(D) Better in writing than speaking.
afgrfw faenef aaﬁ@ﬁm%ﬁ@mﬁiﬁw%wmmﬁmﬁm% ?
& ISt e, gt ©d e
(B) T € T R € w) stan s e S s e
(€) = sifgs wraf § gan war
(D) & = s9e faea S | ,
24. Which of the following statements is not true about intelligence ?
(A) It is the mental capacity of an individual '
(B) It helps in adaptation
© Itis judged in terms of the quality of behaviour
(D) It is permanent and unchanging characterstic.

ﬁmﬁﬁ%wq@&aﬁﬁwqﬁ% ?
(&)  T% UE Afw F AEREE & §
(B) IE HHSE / ShE NfYd H W 9ETe §
(C) 9% SHER 1 Ul ¥ il St §
ml I T T wuiadene faeem § 1

95. A balanced personality is one in which
(A) balance is established between Id and Super-ego
(B) balance is established between Id and Ego
(C) balance is established between Ego and Super-ego
(D) strong ego is maintained. : -
(&) 2EH TE 99 HFEH F o= G @l fe S §
(B) 32 TS 3EY ¥ &y Geqer wnfyq fean s @
(C) o78Y Td WH SR % o9 e wfaa e s g
(D SEE STEH I SER S e |
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27.

10 ”1!

Which of the following strategies wﬂl work for mentally retarded children ?
(A)  Explain tasks concretely

(B} Encourage students to set goéls

(C)  Provide opportunities for self-study

(D) Seek outside resources for help.
wwm@ﬁﬁwﬁ%ﬁﬁﬁmﬁ@aﬁq zﬁa{ammm’nﬁ ?

(A)  FEf ® Y € G GEEl

B mﬁwwawﬁwﬁﬂm%ﬁﬁmﬁm

(C) @-37FA & FAIHR YA HAT

(D) WETEal & ford IR @ SHUE HY WH ST |

Dance, drama & art are used for

(Aa) developmént of specific traits \
(B) moulding personality

(C) an outlet for blocked and intolerable drives

1D) = all of these.

T, ST wa foreushen 1 v fwan s @

) fafwe e ¥ e R

28.

(B) wAafwed =1 qeM & fag
(C) <ol UH Rfed 7 HT S HHA A S F AR ¥
my, T g 9t

Difficulty in learning to read, spell & calculate, normal intelligence and good adaptive
functions are the characteristics of

(A} = slow learners (B) normal / average learners
() mentally retarded . (D) learning disabled children.

TR, Ao T T # e, W gfe T sl srgerers A fa @
Ay o fq @ dieA gl F B = 9mrysiea st
(C) wHfg® €9 9§ fooe ads! &t (D)  3fermg fratrg smerenl @

29.

30.

‘Difficulty in making the difference between fand v sound: for letters m and n is a

learning difficulty related to :
A attention , (B) memory

(@] perceptxon (D) all of these. .

WG F, AU 7SR i gt o wwmw ferTa =) TEE gt ®
(&) STEU FEU R |

(C) TcaEfHTor &Y ' B FHa

According to the Right of Children to Free and Compulsory qucatlon Act, 2009
teachers cannot be deployed for

A) decennial population census (B) disaster relief duties

(C) ~duties relating to elections ‘ (D) pulse polio programme.

ﬁwmaﬁmﬁmmmmwﬁw 2009 % =T, msﬁamwﬁmﬁ@fm
& & ford 9 e S e ?

W TE 94 9vEd g arell S oy [B) Wmaﬁrﬁﬁ

(C) T grawdt wr o (D T O wEEE

(DS RRA o - [soi] .
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‘ SECTION - II |
LANGUAGE I
ENGLISH
There are 30 questions in all in this Section.

All questions are compulsory.

31. An important assumption of Communicative Language Teaching is that language
learning is learning to

(A)  speak accurately |
(B)  write correctly
(C) communicate -efféctivelj
(I)) master the grammar of the target language.
32. The four basic language skills are
(A) listening, speaking, understanding and expressing
(B) reading, writing, speaking and communicating | . .
(C) listening, reading, 'speaking and communicating
(D) reading, writing, listening and speaking.
33. Evaluation in a teaching programme
(A) takes place only at the end of the year
(B) takes place only at the end of a lesson ,
(C} . is a continuous prdcess and goes on during lessons also
. (D) isnotan ihtegral part of teaching,.
34. In a Matching Test students are asked to
(A}  match the related items in two columns
(B) replace an item with a matching item v
(C) complete a sentence wi_th a matching item
(D)  match unrelated items in two colummns.
35. A language proficiency test aims at measuring
(A) ‘Row much a learner learnt over a specific peric;d of lime
(B) alearner’s knowledge of ‘the whole language’ |

(C) alearner's knowledge of the rules of speaking

'(D) a learner’s knowledge of the content of a book.

L. so1] . | P.TO.
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36.

37.

38.

39.

40.

41.

16 v
The teaching of English aims at enabling the learners té |
(A)  only understand the spoken or written language
(B)  only express-our thoughts and feelings in speech or writing
(C)  produce good literature in English
(D) both understand and produce spoken or written language.
The Grammar-Translation method .
(A)  emphasizes listening and speaking
(B) ~ pays no attention to reading and writing
(C)  has its major focus on reading and writing
(D) emphasizes reading and listening. ,
One of the principles of the Direct method is that )
(A) qlassroom teaching should be done only in the target rlanguage
(B) both the first languége and the target language should be used in the classroom
(C) literature teaching should be the major focus
(D) students in the classroom should only listen to the teacher’s lectures.
Television is an example of multimedia because it combines the mediums of
(A)  pictures and sound " (B) pictures and images
(C) sound and voice (D)  sound and music.

Which one of the followiné is not a visual aid ?

(A Blackboard B Radio

(C) Charts (D) =~ Word cards.

Which of the folloning has all the words beginning with the -same ( consonant
sound ?

(&)  sun,city ' ~ (B) Kite, city

{C) house, hour v (D) umbrella, university.

42.

43.

44.

Which of the following has the same vowel sound ?

(A)  trip, treat, try ‘ (B) good, food, push
{C) she, see; seat (D) ~‘pen, man, head.

Choose the correct phonétic symbol for the sound at the beginning of the word ‘thick

W st/ | ®  /6/

@ /th/ o /a/.

P‘i;k out the correct 'phonetic transéribtion of the wofd ‘bridge’ :
A /bridz/ . (B) * / braldz /

() /brlg/ ' D) /brdz /.

1T so1)
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To which of the following questions will the sentence “People in the villages of
Rajasthan lead a very simple life” be an appropriate answer ?
(A)  Why do people live in Rajasthan ?
(B} Where do pebple of Rajasthan live ? ‘
(C)  Why do people of Rajasthan lead a simple life ?
(D) What kind of life do people in the villages of Rajasthan lead ?
Which of the following phrases has a determiner in it ?
(A) The conclusion (B) . Of two years
(C)  Social Development | (D) Watching television.
Which of the following has the correct structure of a question ?
(A) When she did reach the station ? (B) When she reached the station ?
(C) When did she reach the station ? (D) When she had rea(:‘hed the station ?
They will invite all the children.
The passive voice form of the above sentence will be
(A)  All thé children will be invited (B)  The children will be invited by all
(C)  All the children will have invited (D) . The children would be invited. .

Prose Passage I ( Q. Nos. 49 to 54 )

49.

. 50.

51.

Most children start watching television long before they enter 'school. Many doctors
have come to the conclusion that children up to the age of two years should not watch
TV. The doctors are of the view that the first two years of life are very important for
the developmeht of a child’s brain. Spending time with parents and others encourages
learning and healthy physical and social development. As children get older, TV can be
watched to a limited extent. Children preparing to enter school can learn the alphabet

-and numbers from educational programmes. They can also learn about wildlife on

nature shows. Television can be an excellent educator as well as entertainer for
children. '

Both the words ‘educator’ and ‘entertainer’ are

A) nouns : _ - (B) pronouns
(C) verbs ' (D) adjectives.
The verb in the clause"they enter school’ is in )
(A) Simple Past Tense _ v (B) Simple Present Tense
- (© Present Perfect Tense - (D) Present .Continuous Tense.
In the phrase ‘a good thing’ the determiner used is -
(A) good : (B) thing
(@) athing ” ' (D) a.

52.

Which of the following has the three degrees of the adjective in their correct form ?
(A)  Cold, more cold, coldest ' ‘ '
(B) Important, importanter, importantest

. (C) . Long, longer, longest

(D)  Good, better, betterest.

[s01] - . - [ P.T.O.
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Conjunctions in the Passage ( Il ) are
{(A) that, and . (B) that, also
()] about, and (D) about, also.

The verb phrase ‘have come’ in the clause “Many doctors have come to the
conclusion ... " is in ‘

(A) Simple Present Tense ‘ (B) Simple Past Tense
(C) - Present Perfect Tense (D) Past Perfect Tense.

Prose Passage II ( Q. Nos. 55 to 60)

55.

56.

57.

58.

59.

60.

People in the villages of Rajasthan lead a very simple life. Their way of living has not
changed over the years. They live in circular huts. The walls of these huts are covered
with cowdung. Every hut has a small place for worship. The life ofithese people is full
of difficulties. It is very hot in summers and cold in winters. Water.is a major problem.
Sometimes they have to walk a long distance to get drinking water. For their
agriculture they depend on rains. But these people are very brave. They have learnt to
face difficulties and they never lose hope. They also like to enjoy their life. Women like
to wear dresses full of bright colours. People living in villages in Rajasthan have a rich
tradition of music and dance. The people of Rajasthan are very proud of their culture.

Which of the following words is a synonym for ‘brave’ ?

(A)  hardworking i (B)  valiant

(C) prosperous (D) enthusiastic.

The antonym of ‘bright’ is S
(A)  colourful ‘ (B) transparent

(©  dul o (D) dark.
Which of the following words is correctly spelt ?

(A)  definition , (B}  defination
(C) difination ' (D}  definetion.
The adjective ‘simple’ can give us the noun

(A)  simplify (B) simply

(<) simplistic ‘ (D) simplicity.
‘The way of living’ can be replaced with the word -

(A)  livelihood (B) liveliness
(©) lifelike (D) llifestyle.
Whf¢h of the following is an adjective formed from the noun ‘music’ ?
(A)  musician (B) musical

(C) musically " (D) musicality.
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SECTION=II
LANGUAGE n
ENGLISH

There are 30 questions in all in this Section
Al questlons are compulsory.

61 Peer assessment takes place when
(}Q a studént’s work is evaluated by one or more students of his / her group
(B) a student’s work is evaluated by all the teachers
(C)  a teacher’s work is evaluated by all the students
P) a teacher's work is evaluated by a student.
62. Which of the following is not a purpose of evaluation in education ?
(A)  Assessment of attainment )
(B). Measurement of the valge of teachlng methods
&  Collection of information about the parents of learners
- (D) To diagnose difficulties of learners
63. A good language proficiency test S :
(A) s entirely made up of only one type of questions
(B) focusses on Essay Type questions alone -
(O is completely based on Objective Type questions
B, is a combination of Objective Type. Short Answer Type and Essay ’I‘ype
b questions.
64. A Remedial Teaching syllabus should be based on
(A} the teacher’s impression of language difficulties
B) students’ interest in learning a language
&} " an analysis of errors made by learners
(D)  an analysis of the future needs of the learners.
65. Remedial Teaching pays greater attention to students who
(A)  are proficient in English B) are likely to go abroad
(C) . have fallen behind others ; | 4D) are irregular in attendmg classes.
66. Which one of the followmg is not an important principle of language teachlng ?
(A)  The students should learn a language by doing it.
(B) The students should proceed from the concrete to abstract.
(C)  The teacher should try to motivate the learners.
- M) The teacher should always tell jokes in the classroom.
67. The correct order for teaching language skills is
) sfeaﬂ«:ing,\ listening, writing, reading
(B) speaking, writing, listening, reading
XC)  listening, speaking, reading, writing
(D) listening, reading, speaking, writing.
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One of the tasks of the teacher in Communicative Langnage Teaching is to
(A collect information aboul the social background of e g

(B)  dctermine the language needs of the learners

{C) provide suitable classreooms (o the learners

(D) send progress reports to the learncrs‘—parents.

The main aim of Commuﬁicativc Language Teaching is to

(A) provide communicative compeience (o learners

(B)  focus on the structure of the targdet langauge

{C) emphasize the use of English as a library language

(D)  encourage learners to speak like native speakers of English.

A healthy approach to a language learner’'s errors requires that the teacher should
(A} condemn the errors

(B)  look upon the errors as a teedback to the teacher

(C)  punish the learners for their errors \

D}  completely ignore the errors.

The total number of consonants in English is,

A 12 24
20 , ' (I 16,

The first sound in the word ‘eat’ is transcribed as

A /ea/ ' - By - JSel/

€ 71/ {D) ji/

The last sound in the word ‘push’ is transcribed as

Yo /17 B /sh,/
) /s/ : ' (D) / ch /.
Which of the following is the correc! transcription of the word “wide™ ¥
(A) / wald / ' (R / wid /
(©) / wide / : ’ W) Jovatd /.
Pick out the correct transcription of the word ‘books'

(A) / bt kz / (13 / books /
J9 / by ks/ - (D) / bookz /.

The modal ‘could’ in the sentence “So, students could progress in their. acquisition ..."

means ‘

(A) ¢« Students actually progressed in ...

(B) It was possible for students to progress in .

IC}  Students had the penission to ;irogress‘ in...
(D) It was not necessary for students to progress in ...
The wedding has been put off until December.

The phrasal verb ‘put off here means

#)  Postponed ‘ (B) Can. elled
{C} Fixed up (D} Brought forward.



79

80.

45

An elegy is a poem written

(A) - to celebrate an occasion

(B)  in the praise of God ' - .
(C)  to give expression to our love for someone |

P) * in the memory of someone who has dled

\ sonnet contains

(A) 16 lines ' /B) 14 lines

(O] 12 lines (D) 10 lines.

All the dialogues in a drama contain the thoughts and feelings of
&) the characters (B) the author

(C)  the audience (D) the director.

Poem ( Q. Nos. 81 to 85)

81.

82

8

-84.

85.

L — . [s01]

I have seen dawn and sunset on moors and wmdy hills
Coming in solemn beauty like slow old tunes of Spain :
I'have seen the lady April bringing the daffodils,

Bringing the springing grass and the soft warm Apr'il rain.

I have heard the song of the blossoms and the old chant of the sea,
And seen strange lands from under the arched white sails of ships
But the lovehest thmgs of beauty God ever has showed to me

Are her voice, and her hair, and eyes, and the dear red curve of her lips.

()  Soft warm rain (D) Daffodils.

ST-1

“Like slow old tunes of Spain” is an example of
(A)  metaphor . o (B) personification
& simile . (D) assonance.
| “Ships” of line 6 rhymes with :
(A) “Spain” (line2) ) “lips” ( line 8)
Q) “sea” (line 5) ‘ (D) “daffodils” ( line 3 ).
The use of ‘old’ in “Old chant of the sea” tells us that |
"(A)  the chant was popular in the past )
(B) the sea is no longer young
(C) the chlémt has been there for a long time.
(D)  the sea has been singing an old song.
Which of the following lines shows that the speaker has travelled a lot on the seas ?
(A Line2 (“Comingin...") (B) Line 4 ( “Bringing ... ")
Q) ;.Lmé 6 ( “And seen ... ") (D) Line 5'( “I have heard ... "
The most beautiful thing God has shown to the speaker in the poem is
&) Lady April (B) His beloved

[ P.T.O.
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Prose ( Q. Nos. 86 to 90)

There have been immense advances in technology in most aspects of people’s lives,
especially in the field of education. Nowadays, an increasing number of students rely
on computers for their knowledge. Moreover, computers have been helping some
students to progress in their studies quicker than they did in a traditional classrpom.
In the same classroom, students have different intellectual capacities. Therefore, some
would be tied to a slow advance in their studies because of others’ inability to move at
a faster pace. So, students could progress in their acquisition of knowledge at their
own pace using computers instead of learning from teachers. As a result, some people
believe the role of teachers will now become léss and less important in the future.
However, the presence of a teacher is essential for students because the human
contact influences them in a positive way. Students realize that they are not dealing
with a machine but with a human being who deserves attention and respect. They also -
learn the importance of studying in a group, which helps them improve their social
skills. Moreover, teachers are required in the learning process, because they
acknowledge students’ weaknesses and help them to solve their problems on an
individual basis. :

86. The word ‘Therefore’ at the beginning of the fifth sentence of the first paragraph

indicates , : .
@ Comparison (B) . Similarity
(C)  Strong possibility (0) ' Logical result.

* 87. Pick out the correct verb form to be used in the sentence "The role of teachers .........
more important now” :

(A) have become ' B) has become
(&) had become : o (D) is become.
88. Which of the following can be a possible title for the above passage ?
#A) Can Computers Replace Teachers ? A
4B) Can Teachers Replace Computers ?
(C) Advances in Technology '
(D) Traditional Classrooms. :
89. Computers allow students to
~ (A) control the teaching process (B) solve their teachers’ problems
()  learn at their own pace - (D) improve their social skills. |
90. One of the limitations of a computer is that / ‘
(A) it knows much less than a teacher ‘
(Bl it ig less efficient than a teacher
{O» it cannot provide human contact | 5

(§) - it cannot provide the latest knowledge. ' , A

TR ~ [s01]
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(C) deayfis ug adt foar 3 (D) o denfls yg foar T |
78. foq wy o5 uE” - yIed T wEE F - |
(A)  wfonr @ gu feg Quer (B) fai 8§ 2u @ »iy dv a9 Bt
(C) mfont g fEa fagr Suz (D) faA @ T& T |
79. ﬁﬁmaﬁwﬁﬁﬁw’—mwg‘a@mﬁz-
(A) IRt T ATQ T A (B) a3 & 83
(C)v It &7 eBer arfen sfae | (D) dHewBTHIIwE | v
80. faR @ adt ot § fisds BR gt femam g sar & fouz AN, faod feman fig o <93 o
Tl 2 ’ ‘
- Ay S8 (B) U3 an
Q) fEe (D) FaEd

J5 for U9 3 Uz &, AT 399 81 3 85 Sa © €39 fad -
3 "o fuzT 3 9 Ao HT3T |
SHT ETU S AT F37 |
3 WY I ASGT §E |
3T 978 T 3T HIG |
et fqur 3 3T yge |
g "t G2 3 T AT WEr
‘\Eﬁfaﬁgwmeaw'a?fen
A 397 °% »iysT HIG | ‘
81. QuIas =fy fan fegg-gow § yare aoer § 7

(A)  FaHfs =fe © (B) metafe
(C) wg-afe | (D) - fa afe |
82. 'AY 37T u® iy W@ St gw I ? N I
(A)  yH3H & AR fAefmr 3 (B) yH3H 3§ Fle v 9t usET9 9
(C) yr3wT B3F wEt 393 fder 7 ‘(D)_ zpr"?}'rrwsﬁ-ﬁBT3|
83, Gudes dfe T Jo fofun &5 fom o €y ot 3 2 |
(A)  ZE ' (B) 3=
(C) w37 (D)  duy i

||“|“"|||“"| \ - | [P.T.O.
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84. Quds arfe ¥y fauam nEaw 3 7

A Ty B 8ur
(C) mEYR | (D) M |
85. Qudaz arfe v fan ga<t At &g fifunr fost aret @ 2
(A)  wafefamrfsa , i B) fomsfux
(C) guw<l Bt _ (D) FAISETE |

I fs 43 3 ug @, AT® 99 86 T 90 I T 39 fay -

 fued € vofanit 3 fars-famal # Aae gar gdt 3 8r @ wg fHe A3 Arond 95 1| fans fams aea @
39 J&' nrIH-df3nret a9 99 I5 | UAE © am-a'w efr gfet 89 fovs famst @3 aishrt 7 gatort
wr3H-dfInret Hedt fouget yarfas gehit of de o5 1 831 3 der I8 fons fams @ Aae 3 mfas o
Fu-Jy feu=t &g sgur v femr gzfenr forr 3 | fedw fors-fars ¢ sdt ds-Hage w3 Ife-d=
fors & 451 3 Uo7 § 99 Hae o faws § 93 95 | AHw @ fegt Tger @ 8 $0 wrefaa-mifaa Hee
feu fug a2 g5 | 831 @ yIt Sa= 3= f&v et wdz 7 wWe-nmes w3 G3uex w9 v =u foor
e, fegt Sat w8 wifs fdgr e femr | |

86. J5 fefot v fagar mue fusss s sfor 3 7

(A)  mMHES (B) 83uws
(C) wafami . (D) Sfedtz 1 |
87. I fafemi &9 fagar maw feort 3 2
(A)' Age (B) %ﬁaé
(C) yefas ' : (D) fra |
88. Jo ffemn fieF fagw st st 3 7 '
() wwgs | B) fors
© . famt (D) U
89. Jo fefumit f&T" fage feAns &t 3 7
A) fons-fars (B) m*antrfzmv
© ¥sEEs D)
90. H@Fﬁéﬂ%ﬂm{ém—feaéfammmﬁéfmé? |
(A)  FAH | B eIsHwETS.
(ci sfouams D) S
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68.

69.

70.

71.

72.

73.

74.

75.

76.

olldetviiell WsAYRASH cuaaaiel 548 ?
A Bua (B) g2
(C) [auaaeq D) euwwd.

oflletiell san siercarell @siat 2l wet aua .
(A)  =awr . (B) Selal
(C)  diuet : (D)  dvual.

(Qaedl talsts] Grarer sdld giadl sla dl dd Sa u&e:jn aiue s8lej ?

(A)  ysaie ' (B)  uiateel : \

(C)  elicatet | (D) oueel e,

oflletniell sail (Aldre & Gt dweuy ? | ’

(A)  Quell Qusdl uBua uia aisai 2l (B)  Qtueil sfidiel eta 2049
() (deefl Aus (el el (D) (el Auise yeas) aizusl.
ofldetiiiall 58 uwla Ri2a1ssegl agy 8.

(A) [.313[3{6‘[ _ (B)  2udiel

(€©)  wsdlic - (D)  sad.

vcbilris_ui' eleer At 2Aellont cunsien cunt [@Asin we s8 2ustiell GuaAla s2ell ?

Ay  [a0ia : (B) yel uell adl

(C) (Rt uzell aral | (D) ([Celaartz.

dldatniell 58 ugld cuser el uglda oeil.

(A) B (B) 2di1€2at2t
(C)  ouruiaol (D)  2nalA.

olAatptizll 52 uRC cuMSel ot RS UR HAR 52 otell.
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Section - IV / @Ug - IV -
MATHEMATICS / Tifota
There are 30 questiohs in all in"this section.
‘Ail questions are compulsory.
. maved ga 30T ¥ |
it g aifer §
91. “Mathematics is the gate and key of all sciences.” These words are séid by

\

(A) Roger Bacon , - (B) | Hamilton
© Plato D B‘ertra.nd Russell.
ifrd, weft foral 1 R wd Foi ¥ 1 aw v R ¥
(@) AR A B
© @@ | | ' D) W
92b. In a child which virtue is developed by the study of mathematic_s ?
A) Self confidence ‘ (B) Logical thinking
(O} AnalyUc thinking : (D)  All of these.
Tfor % SeTE @ T o= § Ry o w1 e g ¥ 2 | ,
@ sTefaET - : B) difhe G @
© fowfmds o) FHAwH
93. The importance of mathematics at primary level is
A) cultural (B) mental
(C) practical . (D) religiqus‘

wifHeh T W 7| &1 Wee
(a) wiEHfaEw B) HHE®
© =R | (D) smefeE | @

| B IHANR| - - [so1 - B § X o}
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94.

95.

96.

o i

Principle of ‘General to Specific’ is used in

{A) Inductive method , _ (B) Deductive method
(C)  Synthetic method : (D) Analytic method.
a4 fafere’ 5 fagr e § | frad yam S @ 2

@ s far : | A B) A fafy

() dyerym fafy (D) foveiwor fafy |

In which method in mathematics, do we usually take help of formulas and rules ?
(A) Synthetic (B)  Analytic

’(C) Induction .‘ (D) - Deduction.
nﬁmﬁﬁmﬁfuﬁmm:wamﬁaﬁaﬁmﬁﬁ%’ ?

@ e | favam

(C) mTHA | '_ : ®) Ao

~

‘TVVO labourers can do whitewash of a school in eight days. Then how many more

labourers will have to be employed to get the work done in two days ?
B 8 (B) 6
) 2 , (D) 16.

Wmﬁgméww,ﬂwmﬁ?ﬁmm% | 3w F QA H @ e &
forq fora 7T AR @A TR 2

~

A 8 (B) 6

© 2 ' D) 16.
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Ram has 3 children and Mohan has 5 children. Each of them spends a sum of
Rs. 450 per month on the education of their children. Then whose monthly average

expenditure on education per child is more and by how much amount ?
(A)  Ram. Rs. 60 | . (B) Mohan, Rs. 90
(C)  Ram, Rs. 150 : (D) Both are equal, zero.

T 6 IReR # 37U e %k AR H 5 T | FAF T w=A okt fran W 450 Fo miEF =
T © |Tm«&vqﬁaﬂmmﬁ?ﬁﬁmwaﬂaamwaﬁwﬁaﬁtﬁfﬁ[ ?

(B T, 60 %o _ (B)  HIEd, 90 %o -

(C) TW, 150 %o D) TH AR Y, T |

If a person sells a thing of Rs. 90 at 10% profit, then the selling price is

(&) Rs. 90 (B) - Rs. 80

(C)  Rs. 99 (D)  Rs. 100.

T = 90 o ! I& Fl 10%@8111(3@31% |SE g F fspa qea &
A)  90%o ‘ (B) 80T

() »9930 - | (D)  100%e |

What will be the simplé_ interest of one year on Rs. 500 at the rate of 1% monthly

(inRs.) ?
A) 55 (B) 50
) 5 , (D)  60.

50060W1-aﬁmwaﬂa1Wouﬁ$a@wm<m'ﬁ)2
@A) 55 : @\ 50

© 5 D) 60.

L . PT.0.
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100. If a person sells a thing for Rs. 90 at a loss of 10%. then what is the cost price of the

thing ?
(A Rs. 81 ' (B) - Rs. 100
© Rs. 99 (D) Rs. 101.

TF Al ol 95 H 10% THEE F WY 90 Fo ﬁm%éwaﬁmmw%
(A) 81%o | 100 %o
(C) 99%o | | (D) 101 %o‘ |
101. T};e place value of digit 5 in the following four numbersv
5821, 8521, 285i, 1285
is respectively
(A)b Five thousand, Five hundred, Fifty, Five
(B) Fifty thousand, Five thousand, Five hundred, F ifty
/(C) Five hundred, Fifty thousand, Fifty, Five
(D)  Fifty hundred, Five thohsé.nd. Fi\;e, Fiffy.
frafafas ar demst § i 5 %1 wrE wH
5821, 8521, 2851, 1285
i |
AR ‘ﬁmiﬁa@? T, ot J e mmﬁamﬁamm |

(C) dia , O §9R, T=E, WY (D) W= W, W= TR, 9, TH |
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102. The total population ( male and female ) of a village is 4054. If the number of males is

2896. then the number of fermales is
a)  .5940 _ B) 1068
(C) 1158 \ - (D)  1148.

e i e S (B a0 Tew ) 4054 ¥ 1A Ted w1 Hem 2896 7, @ fordi %1 Hen
Fauil '

(A) 5940 | | B 1068

€) 1158 , D)  1148.

103. There are 642 students in six classes of a school. If the number of students in each

class is equal, then how many students are there in each class ?
@A) 17 (B) 107
© 71 (D) 170.

w T & 6 waned ®§ g foenfeldi =t g=n 642% nﬁuﬁ%mmﬁﬁaﬁﬁmmw
?, @ vA% Fan  fead fomneff € 2 '

) 17 B) 107
71 , (D) 170.
104. The value of 10 coins of 25 paise is not equal to

A) ’ 2 coins of 1 'rupee + 1 coin of 50 paise
(B) 1 coin of 1 rupee + 3 Coiﬁs of 50 paise '

. (C) 2 coins of 1 rupee + 2 coins of 25 paise
(D) 2 coins of 1 rupee + 1 coin of 50 paise + 1 coin of 25 paise.
2548 % 10 faw F1 T e A A Foren R T § 2
(A) moésQﬁqaé:_+ 5099 =1 1 faeem ,
(R 1mwv1f§@+50ﬁ@3€3f€ﬁ
(©) 1%0&:2@3&:_+ 2599 % 2 faas
(D) \160%2~W+50_ﬁm1m+25ﬁﬁwwml

LT — | ~ Irro.
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105.

106.

72 oy
If we divide number 4 by number 6 then the dividend, divisor, quotient and remainder

A

are respectively
A  4.6,0, 4 - (B) 6,4, 0,6
) 4.6,4,0 ' D) 6, 4,6,0.

A 47 T 68 I AW A, I, ST T IR H

(A) 4, 6, 0, 4 (B) 6. 4,0, 6
< 4.6,4,.0 (D) 6. 4, 6, 0.

To create interest in subject mathematics in lower classes, the teaching method used.

- must be
(A) recreative and game related (B) cramming
(C) _ induction : (D) deduction.

107.

St sl T o 6 e e w3 fo N

@A) TR T T e (B) A @

€ 3TFT‘FT EQl (D) T =

In which of the following, the subject mathematics is not used explicitly ?
()  Loss and profit (B)  Cycling

(C)  Purchase of vegetables () Loan.

For 88 Faed TR o 1 e e G T AT 2

W TR B B e

() fssar wlew j ‘ (D) SUR A |

L )
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108. Ram is playing and puttmg three balls as follows :

.0 O @) @) ®) O
O O O O O O O OO O 0O O

' O
Mohan is preparing a table looking to his play : (0N,

Number of QOO signs ! 2 3

Number of balls 3 6 9

What conclusion can be drawn from their work ?

(A)  Ram is playing and Mohan is doing mathematics.
(Bi Both Ram and Mohan are trying to generalize.
(C) Both Ram and Mohan are playing only.

(D) Ram is doing mathematics and Mohan is playing.
9 Ed @ ¥ 5 geR | 91 1S 1 e e o

®) o o - O @) @)
o O O OO0 o O 00 OO0 oo

IUh T Gl 9 Higd Uk Al 9 T/ T

O i # e 12 |8

el s G 3 6 9

21 = 3 el 3 sreier & F e Freve 2

@ TH B T R AR T R

(B) mﬁﬂ%ﬁw@wwﬁﬁmw@%y
(C) mﬁhnﬁmaﬁ&mﬁ@a@%n

(D) T T R e ek e we R

1 — woi] .
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74 Y|

If a studeni gefs'failed in Mathematics a number of times then to know in which
particular branch of Mathematics is he weak, which of the following methods will be

used ?

(A) Written work (B) Oral work
(C) Diagnostic method _ (D) Remedial method.

\

s e ferenef], ifvre fora F o€ AR el € W R, @ A ST & fer foF M 1 e fadm

110.

wErH 98 wEeiR g, e 1 9 - fafy v § o 2

() fafea = | B) Hifae T
© - TreEHs aliwm (D) STARIHE e |

A student can gain speed in mathematical calculation by

()  discussion or debate (B)  oral work

(C)  written work | (D)  practice.

EIE] nﬁreﬁ‘q o B Ifq W R wRd €

A ﬂalm a1 faemg g ®) i gm
(© fofed wrd g | ) aqwmz;m|

[0 | (501 o
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111. How many planes does a match box have ?
@ 6 | ® 8 .
< 9 ' D) 4.

ity 1 feslt & fean T@ § 2

© o | D) 4. \
112. How many lines can be drawn on a plane ?
(A)  Three C B Two
(C)  Infinite | (D) .Nothing can be said.
- & da R e Yand o st wed € 2
AN R ® @
O I D) $ T FT T
113. If a transversal liﬁe cuts twolparallel lines, then which of the following stétements is

not true for the angles formed between them ? -
(A)  Corresponding angles are equal
(B) Alternate angles are equal

(C) Sum of the interior angles formed on one side of transversal line is two right

angles

(D) Sum of the interior angles formed on one side of transversal line is a right angle.

| RIRRA | | [ 501 . - [ P.TO.
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S g
YT O 9= & 2 |

W T e R

B WWW@%%

(C) ﬁﬁ?%@%@aﬁ?aﬁ'w:ﬁvﬁwvﬂnawﬁwéﬁwmﬁ

\p) (o T F UH AR S SO H AT Th FEHO ok S G )N

114. The weight of one litre of pure ghee is 910 gram. The weight of ‘700 millilitre ghee will

be
A) 637 gm | B) 13 gm
(©) 210 gm : D) 637 gm.

@-qﬁag[:qa‘rwam 910 7T &, i 700 facfiefre st i o fehamn € ?

(&) 6377M ® 137m
€ 210Um (D) 6377 |

115. The perimeter of a rectangular,field is 1 kilometre. If the width of the field is

200 metres, then its length is

) 250 m ' (B) 800 m

(C) 300 m ‘ (D) é kilometre.

T STHEHR HeM 1 9REr 1 e € laﬁ'maﬁ%ﬁ—gé 200 H &1 T 3HH TR ©
A 2504 (B) 800
& 300 o) forcirdeT |

QL —
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116. Arrangement of following fractions

3405

in ascending order is

1 3 2
W 3 32 5"

1 2 3
© 3 5 2
frafafaa fas

1 3 2

3' 4" 5"
w1 ANE wH ¥

1 3 2
W 3 4 5

1 2 3
©, 3‘,‘5.1,

CNo

6
7

6
7

6

7

Qo

N o

77

®)

(D)

(B)

D)

117. The expanded form of number 35-507 is

5
A 30+5+10

5
Q) 30+5+10

e 35.507 F fawia w9 &

5"
A 3‘Q‘,+5+—1-(5+_‘?

5
AC) 30+5+10

(B)

(D)

(B)

D)

N o
alN
=W

~No
NI
()R

N O
ayN

Ll
Cofr

N o

oW
al N

35+5+1OO

30 +5 + (5)

1

7
35+5+I‘0‘6

5
30+5+100

Wi

7

* 1000 -

7

1000 -

ST-1

| P.T.O.
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118. Write the following number in decimal form :

90 +9 + T96 10900 * 10(?000 :
(A)  99.999 | (B)  90-9999
(©) 99.9099 | (D) ‘99.90909.
=1 e = syers w9 o o
90 + 9+ 190 10900 * 100%60 :
@ 99999 11 T (B} 90-9999 : | \
0 99:9099 R (D)  99-90909.

-

119. Prime fgctors of ﬁﬁmber 840 are
A 7x5x4x3x2 B Tx5x3x2x2x2
() 7x5x3x3x2 ‘ (D) 7'x5x3><2x2.
_@840%31%:@1101'—1@3%
A) 7x5x4x3x2 | B 7x5x3x2x2x;_
Q) 7x5><3x3><‘2 - : (D) 7x5x3x2x2.'

120. The least common multlple (L.C.M. ) and highest common factor ( H.C. F ) of two

consecutive natural numbers are respectively

: '(A) their product, their ratio (B) their sum; first number
. %
(C) second number, first number (D) their product, number 1. '
. 3>
ﬁmmﬁwﬁmmm@awwwﬁmm:%
‘ ’ o : L
(A)  3TH AT, ITHT A (B) 3R WS, UES HEm
(C) &l e, Yool g W T IR, A ]

"y  [so1
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SECTION - V
|ug - v
ENVIRONMENTAL STUDIES
TIeRuT 37T

There are 30 questions in all in this section.

All questions are compulsory.
T TS H F 30TH T |
Tt 7 e § |

-

121. Main aim _Of evaluation is
(A) to maintain discipline
B). to cogduct examination only
(C)  to set question paper only
(D) * to know learnef's performance and bring improvement.
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122. Which one of the following is cocurricular activity in science teaching ?
A Science club . 4 ‘(B) Audi9-ﬁsual aids
(C) Text-book : (D) Black-board.
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123. The process to separate impurities from water, butter from curd, small stones from

wheat etc. is called
(A) Mixture (B) Separation

(C) Filtration (D) Sublimation.
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124. Which of the following statements is true ?

&) Audio—visuél ‘ajds are useful for students

'(B) Chart and graphs are audio-visual aids

(C) Chaests are useful only in social studies

(D)  Audio-visual aids are not importan‘t for efficiency in teaching.
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125. There is an initial test before actual construction of a test. The initial test is called

(A)  Test planning ' (B)  Test preparation

(@) Pilot study (D) Final ’try-out.
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126. Which ol the folldwing states/country is adjacent to Jaisalmer, Bikaner and

Sriganganagar districts of Rajasthan ?

(A)  Gujarat | ' (B) Madhya Pradesh .

(C) Haryana o - (D) Pakistan.
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127. The name of first artificial satellite was
(A) Bhaskar | (B)
(C)  Rohini ' (D)
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128. World Environment Day is celebrated on

(&) 21st May (B)

(©)  5thJune | (D)
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129. Aquatic animals respire by

@ Lungs (B)
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130. Observe the following statéments carefully regarding National flag :

1. Uppermost colour éaffrori is a sign of sacrifice
2. Middle colour white is a sign of peace -
3. Middle chakra is a sign of peace and happiness
4. Lower green colour is a sign of peace and happiness.
The following is correct with regard to above statements : SN

(A) -1 to 4 are correct

V(B) 1, 2, 3 are 'co;rect and 4th is wrong

< 1, 2, 4 are correct and 3rd is wrong

(D) 2, 3. 4 are correct apd 1st is wrong.
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131. Morphological features found in the plants and animals according to the environment

are called
(A)  Adaptations , ' (B) Parasitism
(C)  Modifications (D)  All of these.
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132. ‘B’ir;i sanctuary of our state is situated in which district ?
(&)  Sawai Madhopur (B)  Alwar
(C)  Bharatpur , D) | Udaipur.
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133. Which of the following is not true with respect to Air ?
() Aircraft can fly (B)  Air has weight
(C)  Air occupies space (D)  Air has colour.
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The energy stored in a spring of a watch is

(A  Mechanical energy (B)
(C) Light energy (D)
@ =t i | (B)
(C) W S (D)

Germicides used for drinking water are

Potassium permanganate and chloriﬁe
(B) Potassium chloride and chloriné
(C)  Sodium chloride and oxygen

(D)  Potassium sulphide and chlorine.
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136. Ol)/sei've the following cgrefully :
alalllll,

The above traffic sign indicates

(A)  Major road (B)
'(C) Railway crossing (D)
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Heat energy

Eléctric energy.
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137. Smallpox and Rabies diseases are caused by

(A)  -Virus (B)  Protozoans
(C) Bacteria (D) Nematodes.
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138. We- take food and digestion takes place. The useful substances from digested food are

al;sorbed
(A by wall of stomach ‘ (B) by wall of small intestine
(C) by wall of large intestine (D) in the liver.
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139. Plants synthesize food by photosynthesis. Following are essential during the process of

photosynthesis :
(A)  Oxygen, water, sunlight and chlorophyll

(B) Oxygen, sugar, sunlight and water

(C)  Carbon dioxide. water, sunlight and chlorophyll

(D)  Carbon dioxide, sugar, water and sunlight.
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140. Normal temperature of human body is

<

() 33° Celsius (B) 38" Celsius

(C)V 98.6" Celsius (D) 37 Celsius.
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14 lq. Minerals found in Udaipur and Bhilwara districts are |

(A) Zinc, Lead, Silver and Copper )

(B) Zinc, Gypsum, Garnet and Gold

(C) Lead, Silver, Tungsten and Copper

(D) Silver, Rock phosphaté, Tungsten and .Gypsum‘.
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142. In which district of Rajasthan is petroleum pumped up ?

(A) Baran (B)

(C)  Jodhpur ’ o (D)

Tered o fwg foa 7 feran fsren s @ 2

@) aw B)

(C) SH (D)
143. Moon eclipse occurs, when e

(A)  earth is between sun and moon
(B) moon is between earth and sun

(C). sunis between earth and moon

(D)  earth, sun and moon are in a straight line.

(W) e, g e e i E B .
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144. National animal is

(4)  Peacock (B)

()  Tiger - (D)
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145. Sun-city is the name of

@A) Jaipur (B)
(C) Barmer . (D)
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- 149. Wool is obtained from

(A)  Hair of Sheep, Camel and Yak
(B) Hair of Sheep, Lion and Camel
(C)  Hair of Camel, Elephant and Rabbit

(D) Hair of Cow, Goat and Sheep.
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150. The houses of Monkey, Lion and Rat are sequentiaﬂy_
A Inest, tree and cave (B) cave, burrow and tree
()] : tree, cave and burrow (D) | burrow, Lree and cave.
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: INSTRUCTIONS / fy
( Read carefully and comply / &1 q ﬂ%‘ T Qe 3?}‘)
IMPORTANT /

In Secuon Il {Language 1) a candidate has to attempt the questions of the language which the candidate has selected as
lan”ua;,( !'in the Onhne Application Form,
3 1 (AT 1) § T T & G e HN Afard v s B g ot F W | % ww § Siens s = 6 e

In b(cnon Ul (Language 11} a candidate has to attempt the questions of the language which the candidate has selected as
Language If in the Online Application Form. The Language 11 will be different from Language 1.
T 41 (ST 1) W OIE N & Y ] A HA W?&WWWW@IWHWHEWJHW M-I H FF ) W ) G PR B
The candidate must ensure that the Question Booklet Series Code has been filled correctly at the prescribed place in
the OMR Answer Sheet. Your OMR Answer Sheet will be evaluated on the basis of Question Booklet Senes Code apd not
Question Booklet Number
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Read complete instructions carefully and fill the details from S1. No. 1 to 5 in the OMR Answer Sheet and Sl No. 1 to 4 in the
Question Booklet. If you fail to fill the details and sign as instructed correctly, you will be personally responsible for the
consequences ansing during aanmng of your OMR Answer Sheet. —
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The Question Booklet comprises 96 pages having 150 questions. After being instructed to open the Booklet, only then the candidates
will open the Quesuon Booklet seals. Check whether the Booklet contains 150 questions startin, from Page No. 3 tq 90.
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All questions are of MCQ (Multiple Choice Question) type. There is only one correct answer to each question carrying one
mark. There will be no negative marking for wrong answers.
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All questions other than language questions of Sections II and III shall be bilingual.
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In any event of anv mistake 1n any question/s. candidates will not be penalized. However no corréctions will be made in
question/s during the examination,
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Rough work, 1f any. may be done in the Question Booklet only in the space provided at the end of the Booklet. Do not tear it off
from the Question Booklet. No additional paper shall be provided.
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Usce of Log tables, Calculator, Slide rule, Mobile phone, Pager, Digital dxarv or any other electronic item/instrument etc. is not
allowed. Their use will result in dlsquallﬁcauon
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OMR Answer Sheet will be provided along with Questxon Booklet separately.

OMR ¥z, v qfEsht  amg ?5?1

The Quce suon Booklet will be 1bsued to the candldate at 10:45 A.M. and the candidate must ﬁll all entries in Question Booklet
and OMR Answer Sheet. The Qucsuon Booklet scals shall be opened at 11:00 A.M. After opening the Question Booklet, ensure
that any page/ question is not missing / not printed / torn / repeated. In case, you find any defect anywhere in the Question
Booklet, immediately inform the Invigilator and get it replaced within 10 minutes by the Invigilator. Warning Bell will ring at
12:25 P.M. and the last long bell will ring at 12:30 P.M
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Write vour Exam Centre Code, Roll No., OMR Answer Sheet No., Question Booklet Series Code., Name and put your Signature
1n the space provided inr the Question Booklet as well as in the OMR Answer Sheet. . . R .

Y7 qEF 7 OMR 2 T U B W e % H HIE, T TR, OMR I FHIF, WA g W s, AW 76 o H9H T w1
With each question you will find 4 possible answers marked by the letters A, B, C & D. Read each question carefully and find out
which answer, according to you is correct. Indicate your answer by darkening the appropriate circle completely in the OMR Answer
Sheet corresponding to the question. For mdrk answers use blue /black ballpoint pen only. Gel pens / pencils are not allowed !
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Correct imethod : —1 Wrong method
Hat AT - CORRECT / FE | 1y wrdiepr - WRONG / YT&Ted WRONG / TTéTd WRONG / TT&TR WRONG / TT&iq
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OMR Answer Sheet is designed for computer evaluation If you do not follow the instructions given above and at the backside of
the OMR Answer Sheet, it may make evaluation by computer difficult. Any resultant loss to- ‘the candidate on the above account
shall be of the candidate only. .
omnmm?mmwtﬁﬁﬁmwétﬂ%mmmomnvﬁz?ﬁwwwfwmmwwmm ar
FOZEY FRT SGH Geih] mm|wwuﬁwﬁwmwwﬁfﬁ¢mﬁwmaﬁrzﬁ

No candidate should leave the Examination Hall before the final bell. The OMR Answer Sheet is carbonless in duplicate having
perforation on jae top portion. Candidate should detach carefully the Original copy from'the Candidate's copy (duplicate} so
that the Original copy is not mutilated in any way. Candidate should hand over the Original copy to the Invigilator before
leaving the Examination Hall. Candidate can carry the Question Booklet and Candidate's copy with him/her.
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